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EKS-H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
| answers in Hindi will not be valued.

Question No. 1 is compulsory.
Answer any five questions out of the remaining six questions.

Working notes should form part of the answer.

Marks
1.  Answer the following : f’;g
(a) Following details are related to M/s XYZ Limited ! "
Total Cost ¥ 56,78,000
Margin of Safety % 48,18,450
Margin of safety (in units) 6500 units
Break even sales 3500 units
You are required to calculate :
(i) Profit
(ii) Profit volume ratio
(iii) Break even sales (in ?)
(iv) Fixed costs
EKS-H P.T.O.
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(b) ABC Limited is facing the problem of increasing labour turnover in
the factory. The management is willing to analyse the causes and take

remedial steps.

Last year sales of the company amounted to ¥ 12,18,49,320 and the
P/V ratio was 25%. The total number of actual hours worked by the -
direct labour force was 5.75 lakhs. The company lost 125000
potentially productive hours due to delay in filling vacancies caused by
labour turnover. The actual direct labour hours included 60000 hours
attributable to training of new recruits, out of which 30% of the hours

were unproductive.

The accounting records reveal the following costs incurred consequent

to labour turnover :

Recruitment costs - 5,36,300
Selection costs - ¥2,78,400
Training costs - 4,25,000
Settlement costs due to leaving - ¥ 7,18,800

Assuming that the potential production lost as a consequence of labour
turnover could have been sold at prevailing prices, find out the
contribution and profit foregone by the company in the last year due to

labour turnover.

EKS-H
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(c) Following information relate to a firm d
Current ratio 1.5:1

Inventory Turnover Ratio (Based on COGS) 8

Sales T 40,00,000
Working capital < 2,85,000
Gross Profit Ratio 20%

You are required to find out :

(i) The value of opening stock presuming that the closing stock is
< 40,000 more than the opening stock.

(i) The value of Bank overdraft, presuming that the Bank overdraft
and other current liabilities are in a ratio of 2:1.

(d) ABC Private Limited wishes to raise additional finance of ¥ 30 lakh
for purchasing a machine. It has 7 16 lakh in the form of retained
earnings which is available for investment purposes.

The following details are provided by the company :

(1) Debt-equity mix 1:2

(2) Earnings per share 310

(3) Current Market Price per share 250

(4) Tax rate 30%

(5) Dividend payout 50% of eaming
(6) Expected growth rate in dividend | 10%

(7) Cost of debt :

~  upto ¥ 6 lakh, 12% (before tax)

—  beyond ¥ 6 lakh 15% (before tax)

EKS-H P.T.O.
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(a)

You are required :

@)

4)

EKS-H

Marks

To determine the pattern for raising the additional finance,

assuming that the firm intends to maintain existing debt-equity

mix.

(i) To determine the post-tax average cost of additional debt.

(iii)
@iv)

finance.

To determine the cost of retained earnings and cost of equity.

Compute the overall weighted average after tax cost of additional

PQR Ltd. processes a range of product including a toy ‘Alpha’, which 8

passes through three processes before completion and transfer to the

finished goods warehouse. The information relating to the month of

October 2019 are as follows :

© The Institute of Chartered Accountants of India

Particulars Process-I | Process-II | Process-IIl | Total
Raw materials 12,000 - - 12,000
(2,000 units)
Direct raw material | ¥ 17,000 | < 19,000 T 11,000 | ¥ 47,000
added in process
Direct wages T8,000( 12,000 T24,000 | 44,000
Direct Expenses T 2,400 T 1,860 ¥2,680| 6,940
Production overhead - - - < 33,000
Outputs (Units) 1,840 1,740 1,580
Normal loss in process 10 5 10
of input (%)
Scrap value per unit 32 35 210

EKS-H
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The production overhead is absorbed as a percentage of direct wages.

There was no opening and closing stock. |
Prepare the following accounts :

(i) Process-I

(i) Process-II

(iii) Pr(;cess-III

(iv) Abnormal Loss

(v) Abnormal Gain

(b) A firm is willing to purchase a new machine and is having two -s

options. Information related to the options are as follows :
Option-I  Option-1I
Cost of Machine ?30,00,000 ¥ 35,00,000
Expected Life | 5 years 6 years )
Salvage value of Machine ¥5,00000 % 5,00,600‘
Expected Earning (After tax) ¥ 7,75,000‘ 4 8,25,0(‘)0

The firm charges depreciation on. the machine as per straight line

method. The cost of capital is 14%.

The present value of ¥ 1 @ 14% is as under : -

Year 1 2 3 4 5 6

P/V factor | 0.877 | 0.769 | 0.675 | 0.592 | 0.519 . 0.455

EKS'H P .ToOo
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You are required to evaluate both the options on the basis of :
(i) Discounted pay back period.
(ii) Net present value

(iii) Profitability index

(a) M/s XYZ Traders is a distributor of an electronic calculator. A 8
periodic inventory of electronic calculator on hand is taken when
books are closed at the end of each quarter. The following summary of

information is available for the quarter ended on 30" September, 2019 :

Sales ¥ 1,46,20,000
Opening Stock 25000 calculator @ T 200 per calculator
Administrative Expenses T .3,75,000

Purchases (including freight

inward) :
- July 1, 2019 50000 calculator @ X 191 per calculator
— September 30,2019 25000 calculator @ ¥ 210 per calculator
Closing stock — September 30,2019 32000 calculator

You are required to compute the following by WAM (Weighted
Average Method), FIFO method and LIFO method.

(i) Value of Inventory on 30% September, 2019.

(ii) Profit or loss for the quarter ended 30"‘l September, 2019.

EKS-H
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(b) XYZ Ltd. is making a turnover of ¥ 70 lakhs out of which 60% is

(@)

made on credit. The company allows credit for 30 days. The company
is considering proposals to liberalize the credit policy. Information

regarding options available are as under :

Proposal-A | Proposal-B

Credit period 45 days 60 days

Anticipated credit sales T 65 lakh T 80 lakh

The product yield an average contribution of 20% on sales. Fixed costs
are T 6 lakh per annum. The company expects a pre-tax return of 18%
on capital employed. At present company makes a provisén for bad
debts @ 0.5% which is expected to go up to 1% for Proposal-A and to

2% for Proposal-B. Assume 360 days in a year.

Evaluate the proposals and give your recommendations.

ABC Construction Limited commenced a contract on 1% April, 2018.
The contract price was T 40,68,750. It was decided to estimate the total
profit and to take to the credit of cosﬁng P/L accounts that proportion
of estimated profit on cash basis, which work completed bear to the

total contract.

Marks
8
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Actual expenditure of the contract for the year ending 31-3-2019 and

estimated expenditure for the year 2019-20 (upto completion of

contract) are given below :

2018-2019 2019-2020
Actual ) Estimated ()
Material issued to site ‘ 6,84,000 12,21,000
Labour Charges : Paid 4,57,500 6,04,500
Outstanding at the end 34,500 52,500
Machinery Purchased I 3,37,500 -
Expenses : Paid 1,50,000 2,62,500
Prepaid at the end 33,750 -
* | Machine returned to stores (Original Cost) | 1,12,500 2,25,000
(31 March, 19) | (31* Dec., 19)
Material at Site : 45,000 1,12,500
Worlé in progress certified 19,12,500 Full
WIP Uncertified 60,000 =
Cash Received 15,00,000 Full

The Depreciation on machinery is charged @ 25% on Written down

Value (WDYV). It is estimated that contract will be completed on 31-

12-2019.

You are required to : '

(i) Prepare Contract Account for the year 2018-19.

(i) Estimate the Profit on the contract for the year 2018-19 on
product which has to be credited to costing Profit and Loss

Account.

EKS-H
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(b) M/s X Limited has furnished the following information relating to the

(@

(b)
(©)
(d

financial year ended 31% March, 2019 :

Particulars ®)
Net Profit 2,50,000
Dividend 1,00,000
Provision for income tax 80,000
Income tax paid during the year 65,000
| Loss,on sale of Plant & Machinery - 1,000
Book value of plant & machinery (sold) - 4,500
Depreciation debited to profit & loss account 12,000
Purchases of furniture & fixtures 1,11,000
Investment in joint venture 40,000
Proceeds from issue of 12% debentures 20,000

Increase in working capital (Excluding cash and bank balance) 15,000
Closing cash and cash equivalent 50,000

Prepare the cash flow statement in accordance with AS-3 for the year
ended 31% March, 2019.

Explain the meaning of ‘Waste’ and ‘Spoilage’ and give the

accounting treatment of each one.
State the objectives of Budgetary Control System.
State various types of packing credit.

Explain ‘Net Income (NI) Approach’ and ‘Net Operating Income
(NOI) Approach’ of capital structure.

EKS-H
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6. (a) A manufacturing firm produces a specific product and adopts standard 8

costing system. The product is produced within a single cost centre.

Following information related to the product are available from the

standard cost sheet of the product :
Unit Cost (%)
Direct material 5 kg @ X 15 per kg 75.00
Direct wages 4 hours @ < 20 per hour 80.00

During the month of October 2019, the firm purchased 3,50,000 kg of
material at the rate of ¥ 14 per kg. Production records for the month

exhibits the following actual results :
Material used 3,20,000 kg
Direct wages — 2,20,000 hours T 46,20,000

The production schedule requires completion of 60,000 units in a
month. However, the firm produced 62,000 units in the month of

October, 2019. There are no opening and closing work-in-progress.
You are required to :

(i) Calculate material cost, price and usage variance.

(ii) Calculate labour cost, Rate and efficiency variance and

(iii) Calculate the amount of bonus, as an incentive scheme is in
operation in the company whereby employees are paid a bonus of

50% . of direct labour hour saved at standard direct labour hour rate.
J

EKS-H
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(b) Following inf0rmaﬁon have been provided by ABC Private Limited: ' g
(9]
Sales 80,00,000
Variable Cost 46,00,000
Fixe Costs 6,50,000

11% Botrowed Capital  50,00,000

Equity Capital 45,00,000

Retained earnings 15,00,000
Required :

(i) What is the firm’s Return on Investment (ROI) ?
(ii)) Does it have favourable financial leverage il

(iii) If the firm b'eldngs to an industry whose asset turnover is 3, does

it have a high or low asset leverége ?
(iv) If the sales drop to ¥ 60,00,000, what will the new EBIT be ?

(v) At what level of sales, will the EBT of the firm be equal to zero ?

7.  Answer any four of the following : 4dx4
(a) -'EXplain the adv‘gntages of Integrated accounting system.
®) @ Explaixi’linxitation‘s of cost accounting.
(ii) Expléi‘ﬂ '.‘.l-;“lexible Budget’.
EKS-H - P.T.O.
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(©) Explain: ;
(i) Compounding and discounting
(ii) Perpetuity
(iii) Inflation
(iv) Compound Interest

(d) Describe the principles which guide the selection of marketable

securities.

(e) Describe operating/working capital cycle.

EKS-H
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(Hindi Version)

mﬂaﬁﬁfﬁﬁiﬁwﬁfﬁﬁ%@mﬁm%,aﬁ%wm FAAARTIE |
agqﬂmﬁﬁraﬁf%:ﬂmmqﬁfam%,ﬂﬁ%ﬁﬁﬁw-ﬁ:t?ﬁm%ﬁﬁﬁ@

L.

I} 61 YAt e &N |
oy e 1 fE B |

35 : et i & et uter A % IR AT |

1 fewafdmt (Working Notes) 3T F 9T EF =T |

(a) Tt forewor fad Xyz fafis A wefta & -

P AT % 56,78,000
g gmE T 48,18,450

e T (el ) 6500 3TN

aH-foreye fasha 3500 1A

TR U A @

G @™

(i) T HIAT I

(iii) Fm-feredg farshar @ )

(v) SR

EKS-H
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(b) mc%ﬁ%,ﬁmﬁﬁ%ﬁ@mmﬁmwmmw

R |meﬁﬁmﬁﬁa$ﬁwmmﬁaﬁm%
f s 2 |

Waﬁﬁmﬂmﬁmz 12,18,49,320 &1 3R A1 AT 9T 25%
o1 | S 5H-fR % GRY R 7 B 3 et Aty w9 5,75 T
| -3 F B e gu T W PR A 20 A 3
FEE 3 125000 HHTST-IeTes U2 W) R | ATt S #H gudi
7, Wﬁwwﬁﬁ%wﬁrm%maﬁsmooaﬁaﬁﬁaé
TS 309% w2 srgemes o |

e ST o AT 35 o e 2 e P
I THS A B - | |

Wil T - ¥5,36,300
TH A ~ ¥2,78.400
e ST 2425000

SIS TR Hl e am —  27.18,800

T AT G o6 o et 3 atormeR g Wi see B a =)
ST e WA S e o, F % g T 9% F ¥ e %
R A T S T o 3 i |

EKS-H
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() Tefieas e Th Gen & wefta @ - |

HTe] ATITT 1.5:1

Ty Tad ot (Rifea ATe < T W SR 8

fospar ~ 40,00,000

risfer ol | 3285000

el AT AITA 20%

T8 T LA Y SR :

@) mmm‘w,wmg%mm,m

Teferd <t o7deT T 40,000 AT 2 |

(ii) é’mmﬁﬁmr@,a‘a‘mﬁ@ﬁaﬁmﬁﬁﬁmm
TR 2: 1 HAUA AR |
@ ABC Private Ltd. T "9 1 357 H0 3 e 2 30 @ % JHfafea

A 1 T FO B TS & | FEE 5 o aRia o % w9 H
% 16 ©T@ & ) fafreiem 3oy  feg Iuesa 2 |

Ft 3 g Ffea e 3uees e TR

(1) smor-mwar oo 122
) e 3w A 10
(3) IS T FAAH SR ¢ %50
@ wE | 30%
(5) ATHIN YA 3T 1 50%
6) wmwi # Tty gfg 10%
(7) =01 AT —

% 6@ a0 12% (3 )

3 69 ¥ T 15% (& 9
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@) I8 WA g 6 wen Sdam wor-wwar fiaw B s ey 6
TG €, i i 1 ST 0 % v ) R it |

(ii) aﬁrﬂaamﬁa;ﬁmaﬂmmﬁﬁﬁﬂaaﬁﬁm

(iii) NfereTRE 3t 3 T i s w5 frator S |
(iv) Srferfeera fore St = et Wit it o <6y o iR |

PQR fafies s Rae "R B WRIAT B g IARE F T
W(nge)ﬁmm%ﬁ@aﬁwmﬁmﬁ
& i fi sfrenatt & o 2 | W SRR, 2019 % wekm g

fraa § -

TRy sl | fFnm | sBenm | pea
et Erft ¥ 12,000 - - % 12,000
(2,000 FHTE)
stk d sge g | €17,000 | 219,000 | T11000 | 2 47,000
Heit gt
LREE R ¥8,000 | 12,000 | ¥24,000 | T 44,000
ToI&S Y 2,400 | ¥1,860 22,680 | 6,940
IeUTE ITRTT = = = ¥ 33,000
IcqTEH (FhTSAT) 1,840 1,740 1,580
gfseen  #, e W| 10% 5% 10%
AT &Y
AR (Scrap) e | T2 | %5 210
BILEEaH
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TeaTEeT IR e A 3 SR T Sy R S ¥ | R

e Sf @l i €
e @ i

() SishaT-1 @ran
(i) SFET-I1 @
(iii) SfspaT-II @Ta

(iv) JEH &F Grdl

(v) AEH AT Gidl

(17)
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o e O 7 T 9 Y ) gegeh & g T o e # |

Marks

8

fyepedt & weiftra gATd e € -
el T
Tefie <t AT %30,00,000 ¥ 35,00,000
AT ST 59 6o
e T SR e Z5,00,000 ¥ 5,00,000
T 3o (AT $7,75,000 ¥ 8,25,000
e T T e YT e SR T gy St 2 | S <R
T 14% 8 |
149% Y QK 1 1 T Y a8 :
CL 1 2 3 4 5 6
T e ue | 0.877 | 0.769 | 0.675 | 0592 | 0.519 | 0455
EKS-H
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TR ST ferepedt & Herien ot e fn R W -
() FEFTT G Frafy
(i) 3 T T
(iii) g Ry

(@) ¥Wd XvZ Y56 T Rrgg 9% (Calculator) HY Ri 2 | 5w
ﬁl'q'l'zﬁ & Ha § v gmas ¥ 6 STt %, ﬁgawrvﬁs (Calculator) *
A A Gt e R A § |30 R, 2019 F wwEEE B3
aTeft fommeht 3 fore gemei w1 wm e Suerer 2

[EET] T 1,46,20,000
IR TEfera 25000 HTUTSh, ¥ 200 Tfer IO Y 2T )
TS Z 3,75,000
T (3T wrer witfr
HTAFY) -
~ 13, 2019 50000 ETOTeh, T 191 Wfet ET0Teh hi &
— 30 frmmr, 2019 25000 U, ¥ 210 N GO Y @
W

3ferm feram — 30 fyara, 2019 32000 HTo

IR frrfoRea ot o, e aftea ARy, ‘e s e ST
(FIFO) faft @& “a1q & a1 wged s (LIFO) fafr % amem, e
Infra & -

@ 30T, 019 PR T

i) 30 frewar, 2019 1 wHT B AT fTd & T ST ARy

EKS-H
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®) Xvz fafivs 2 70 o @1 sk # @ & R 60% fasha 3um ™

(a)

fopan S & | R 30 fom it T e wE R | e I 'R
Afty P Teriepa F0 & R sraal R T R | Ivere e
& gy 8 gad P 2 -

e - ‘H | TEE - T
g Sty 45 60 fe
gt IUR fesRa 3659@ | T80TTE

S & Ieare g R W 209 S i fpe S @ | i
AR 2 6 TG TS 8 | FEh of fEm W 18% g @ R
TEITeN Tt R |

e #, e e o % R 0.5% H W FEue w8, S
TETE—31 3 T TE 1% 7% a1 FE— % {1 29 7 w9 A
T 8 | 9 & 360 feT AN |

AT ST TR ST e Tt SR <A |

wcmﬁ%ﬁﬁﬁww 1 38, 2018 = T fopam |
391 T 40,68,750 1 o | W@ Favka R e 6 e e BT A
AT ST 31 AehE YR T ARG W9 H1 98 I, T M
TR 1 57 R S, S ST RETFE R FASH AR |

Marks
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31-3-2019 ! THH B o1 ¥ § 3% & areafys =2 st ad 201920
% argfre = (3% % ot 21 ) Arerea & -
2018-2019 2019-2020
TRATH (%) Fifa ()
Hee o o amft ffg 6,84,000 12,21,000
59 : €q 4,57,500 6,04,500
9 % < § 3Hed 34,500 52,500
A3fit 1 ha ' 3,37,500 =
=Y T 1,50,000 2,62,500
¥ & 37 # g 33,750 k.

T R B A (@ ar) | 1,12,500 2,25,000
(31974, 2019) | (31 féwmw, 2019)

aﬂﬁwamm 45,000 1,12,500
1] %1 — i 19,12,500 of
1] T ~ TSI 60,000 =
e MY | 15,00,000 ot

T R erafdfad gea (WDV) W 25% 1 X & g waiie R
ST 8 11 3% o 31 feemr, 2019 1 i 817 Y Gvram & | ‘
3fda -

@) ¥ 2018 19 % 7T 31 @ dIR FIRT |

(i) AT TR T & 2018- 19%mé%mmmagqnﬁﬁq
S AT B @ d S R ST R |

EKS-H
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(b)jaéx%ﬁ%gﬁmmﬁ,zowﬁmﬁﬁmﬁaﬁﬁﬁaﬁa 8

forero ®)
g A 2,50,000
A 1,00,000
CICETE RIS CRIC] 80,000
T o G SATEHL H1 A 65,000
COPRCRNICEACE DR R 1,000
éﬁaqénsﬁnmgaﬁﬂn@(ﬁ%) 4,500
™ g1 @ra § e fopan mn B 12,000
el T R 1 5 1,11,000
HgeF IUHA H e 40,000
12% o193 fA7iH & T & 20,000
et doit & fg (ke 9 3% Jw F Sie) 15,000
3ifem e @ Uhe THHA 50,000

31 HTE, 2019 Y THIE B T T % AT AS-3 F FFET UHS TR
oo am i |

(a) ‘& (Waste) qT @UfedT (Spoilage) w1 AT TUEY AT TAH 5 44
TR STER I TR | =16

(b) wored o yoreh 3 SREEt H Sewd HIT |

© W%&z%ﬁﬁ:mﬁmmﬁmﬁm|

@ it TEAT F YE A T (Net Income Approach)’ T &
RETE 3T SYTH (Net Operating Income Approach)’ %! ST |

EKS-H P.T.O.
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(a) T fAub wwen s fafire gag =1 fPmfo sl § 9o w9 @

ﬁﬁﬁmélm,wwm%%wﬁ,wﬁa%m
e |

IeATE o HIeh AT T & Iea1e & Feifera oy gt suerenr & -

T AT
(9]
T Rt 5 kg @ ¥ 15 9fa fem, 75
TeIE Al 4 "Ue@ ¥ 20 i yog 80

HIE STHRET, 2019 % SR HEAT 4 ¥ 14 Ny frelt Y & T 3,50,000
ﬁsvhamﬁwm%mmw%maﬁ:@@ﬁwamﬁmw
EEAGETOR S

it g 3,20,000 fereit

 TeIE FH-2,20,000 T % 46,20,000

ST IS T A€ F 60,000 FHEAT Y quier =raeht } | wefy,
TR 3 ST, 2019 H1E F 62,000 T B Ieqed ReaT | TR
T 3d | e T B |

9™ T LA T TR

() TRl AP, Ied TE ST s Y o |

(i) W AT, TS Herar e st T |

(iil) FFH § T N Ao I W 2 R g wHeiE 9 a=

T T HH TUE HT A TIS I TUT & F AUR T 50%
N fean e R | < ofr e R )

EKS-H
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: EKS-H _Marks
(b) ABC W fifirde % gr FrferRad g Sueed SN A E 8
®
ICED 80,00,000
RedEie AT 46,00,000
TTE AT 6,50,000
11% 91 ot 50,00,000
HHa it 45,00,000
gfeenfta 3m4 15,00,000

3Tt

@) o s RafR ) IR (RO FR 2

(i) = e et g R 7

(iif) T T U U@ gE & watr Ryeet geai o 3 @, @ R
ween o a1 et et oo @t @ 7

(iv) R N T 60,00,000 7 W B AT R, T T EBIT 1 €A 7

(v) Torsha % g T RGN 1 EBT Y % ST B 7

frafafga I & el 9 % s df 4x4
=16
(a) TEHIHA SrEieHA JUME! 3 AT I T |
(b) () T oNETER o HIS Y ST |
(ii) ‘?hasﬁam?ﬁwﬁqu
EKS-H P.T.O.
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(c) HHHTRT :
(i) =HIFEAT (Compounding) Ts ¥t (Discounting)
(ii) STYeer
(iif) HSTTEI

(@) 9 Rrgrdt,  fomefier sfeafert & =@ =) FéRe w@ &, &1 vk
- i |
(e) e /e Yot = w1 avi Hifv |
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